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DATA HANDLING

1. In what way is the bar graph better than the pictograph?

o Watch Video Solution

2. The life span of animals is given as follows: bear-40 years, Bull-28
years, camel-50 years ,dog-22 years, donkey- 45 years, goat- 15 years,
horse-10 years, cow-22 years, elephant-70 years. Draw a horizontal bar

graph to represent the data.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_u5FNOSroad1W
https://dl.doubtnut.com/l/_wSmTflnFyjQr

o Watch Video Solution

3. Travelling time from Hyderabad to Tirupati by different means of
transport are-car-8 hours, bus-15 hours, train-12 hours, Aeroplane-1

hour. Represent using a bar diagram.

o Watch Video Solution

4.Fill in the blank: Collection of information is called

o Watch Video Solution

5.Fill in the blank:The difference between the maximum and minimum

marks of a data is called

o Watch Video Solution



https://dl.doubtnut.com/l/_wSmTflnFyjQr
https://dl.doubtnut.com/l/_9G7CL6XyxufY
https://dl.doubtnut.com/l/_a745uUOq2X8d
https://dl.doubtnut.com/l/_k1nTHkJC88Ak
https://dl.doubtnut.com/l/_90OiAYYaZWdN

6. Fill in the blank:in a bar graph the scale is 1 cm= 200 pens

production. The length of the rectangle which represents 1900 pens

o Watch Video Solution

7. All the bars (or rectangles) in a bar graph have

o Watch Video Solution

8.Fill in the blank:While drawing pictographs, the _ of all the pictures

should be the same.

o Watch Video Solution

9.Fill in the blank:In a bar graph x-axis represents __line.

o Watch Video Solution



https://dl.doubtnut.com/l/_90OiAYYaZWdN
https://dl.doubtnut.com/l/_5VG5Heyo36Re
https://dl.doubtnut.com/l/_6iJmHI30RMeP
https://dl.doubtnut.com/l/_ZSQGzLNZdp3B

10. Fill in the blank:Total number of tally marks in each group (class) is

called

o Watch Video Solution

1. Fill in the blank:In a bar graphs___ of all bars is not equal.

o Watch Video Solution

12. Fill in the blank:In a bar graph, the scale is 1 cm= 8 thousands. The.

Length of the rectangle should be _ cm to represent 37.6 thousand.

° Watch Video Solution

13. Fill in the blank:In a pictograph 16 diagrams represent 400 vehicles

then the number of vehicles represented by each diagramis___


https://dl.doubtnut.com/l/_ZSQGzLNZdp3B
https://dl.doubtnut.com/l/_m1hCUq2YRGLN
https://dl.doubtnut.com/l/_1kES0MGGavAW
https://dl.doubtnut.com/l/_XKPuhSeFItnu
https://dl.doubtnut.com/l/_sJHfJgCvAOT1

o Watch Video Solution

14. what are the difference between pictograph and bar graph?

o Watch Video Solution

1. 25 students in a class got the following marks in an assignment- 5, 6,

7,54,2,2,9,10,2,4,7,4,6,9,5,5,4,3,7,9,5,2,4,5,7. The assignment
was for 10 marks.
Organise the data and represent in the form of a frequency

distribution table using tally marks.

o Watch Video Solution



https://dl.doubtnut.com/l/_sJHfJgCvAOT1
https://dl.doubtnut.com/l/_kCPDxNzs7p08
https://dl.doubtnut.com/l/_vpAvBsoCv7a2

2. Marks scored by 25 students in a class for 10 marks are
5,6,7,4,2,2,910,2,4,7,4,6,9,5,5,4,79,5,2,4,5,7. From the above data which
mark was obtained by maximum students?From the above given data,

number, of marks obtained by maximum students?

o Watch Video Solution

3. 25 students in a class got the following marks in an assignment- 5, 6,
7,5,4,2,2,9,10,2,4,7,4,6,9,5,5,4,3,7,9,5, 2,4, 5,7. The assignment
was for 10 marks.

Find out how many students received least marks.

o Watch Video Solution

4. 25 students in a class got the following marks in an assignment- 5,

6,75 4,2,2,910,2,4,7,4,6,9,5,5,4,3,7,9,5, 2, 4,5, 7 The


https://dl.doubtnut.com/l/_LxvWehHrTMeU
https://dl.doubtnut.com/l/_T9M2L1E4SP0p
https://dl.doubtnut.com/l/_342O6hvt5wvH

assignment was for 10 marks.

How many students got 8 marks?

o Watch Video Solution

5.1n a class of 25, students play like various games. The details are
shown in the following pictograph. (No student plays more than one

game).

Cami Sumber of Students

st | XX R KRR
oot | RARA
patren]| 5 % %5 5
e | RRRRAR

How many students play badminton?

o Watch Video Solution



https://dl.doubtnut.com/l/_342O6hvt5wvH
https://dl.doubtnut.com/l/_1653RqPAD8mv

6. In a class of 25, students like various games. The details are shown

in the following pictograph. (No student plays more than one game).

Ceame Sumber of Students

aisi | R RRXRRR
Teowiot | % %R R
ok | £ % % R 3
coet | RRRRR R

Which game is played by most number of students?

o Watch Video Solution

7.1n a class of 25, students like various games. The details are shown in

the following pictograph. (No student plays more than one game).


https://dl.doubtnut.com/l/_1653RqPAD8mv
https://dl.doubtnut.com/l/_g51TamAgaNpm
https://dl.doubtnut.com/l/_jPN6CdYOETbF

Game Number of Students

Kabaddi | R R R R R R &
ot | $228
Badminton | R 2 & R &
ikt | R RR R R R

What is the game in which least number of students are interested?

° Watch Video Solution

8. In a class of 25, students play like various games. The details are
shown in the following pictograph. (No student plays more than one

game).


https://dl.doubtnut.com/l/_jPN6CdYOETbF
https://dl.doubtnut.com/l/_xBK9MjIwiAkj

Giame Number of Students

kb | R R RRRR X
ket | RXAR
mdminon | £ £ R % £
ciret | RRRRR R

How many students do not play any game?

° Watch Video Solution

9. The following pictograph shows the number of tractors in five

different villages.


https://dl.doubtnut.com/l/_xBK9MjIwiAkj
https://dl.doubtnut.com/l/_ITbEFDXzBvyc
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o Watch Video Solution

10. The following pictograph shows the number of tractors in five

Which village has the minimum number of tractors?

Scale : D:ﬂ =1 Tractors

different villages.
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o Watch Video Solution

Which village has the maximum number of tractors?



https://dl.doubtnut.com/l/_ITbEFDXzBvyc
https://dl.doubtnut.com/l/_8AHe53QwKJL0

1. The following pictograph shows the number of tractors in five

different villages.

Village Number
9 o
C

How many more tractors does village C have as compared to village B.

° Watch Video Solution

12. The following pictograph shows the number of tractors in five

different villages.


https://dl.doubtnut.com/l/_aqYFvGenwESa
https://dl.doubtnut.com/l/_5MhyRXxGUkb5

What is the total number of tractors in all the five villages?

o Watch Video Solution

13. 25 students in a class got the following marks in an assignment- 5,
6,75 4,2,2,910,2,4,7,4,6,9,5/5,4,3,7,9,5, 2, 4,5, 7. The
assignment was for 10 marks.

Organise the data and represent in the form of a frequency

distribution table using tally marks.

o Watch Video Solution



https://dl.doubtnut.com/l/_5MhyRXxGUkb5
https://dl.doubtnut.com/l/_NdHsJgt8l6Hx

14. Marks scored by 25 students in a class for 10 marks are
5,6,7,4,2,2,910,2,4,74,6,9,5,5,4,79,5,2,4,5,7. From the above data which
mark was obtained by maximum students?From the above given data,

number, of marks obtained by maximum students?

o Watch Video Solution

15. 25 students in a class got the following marks in an assignment- 5,
6,7,54,2,2,910,2,4,7,4,6,9,5,5,4,3,7,9,5, 2, 4,5, 7 The
assignment was for 10 marks.

Find out how many students received least marks.

o Watch Video Solution

16. 25 students in a class got the following marks in an assignment- 5,

6,75 4,2,2,910,2,4,7,4,6,9,5,5,4,3,7,9,5, 2, 4,5, 7 The


https://dl.doubtnut.com/l/_bFMBI97R1nZa
https://dl.doubtnut.com/l/_UJPJSHhgF2Ve
https://dl.doubtnut.com/l/_STv6Vkh216et

assignment was for 10 marks.

How many students got 8 marks?

o Watch Video Solution

17. In a class of 25, students play like various games. The details are
shown in the following pictograph. (No student plays more than one

game).

Cami Sumber of Students

st | XX R KRR
oot | RARA
patren]| 5 % %5 5
e | RRRRAR

How many students play badminton?

o Watch Video Solution



https://dl.doubtnut.com/l/_STv6Vkh216et
https://dl.doubtnut.com/l/_12U36nSTu6pm

18.In a class of 25, students like various games. The details are shown

in the following pictograph. (No student plays more than one game).

Ceame Sumber of Students

Kaboddi | R R R RR A A
Tomnikoit [ % X R A
Badminion | R X X A A
Criket | RRRA AR

Which game is played by most number of students?

o Watch Video Solution

19.In a class of 25, students like various games. The details are shown

in the following pictograph. (No student plays more than one game).


https://dl.doubtnut.com/l/_12U36nSTu6pm
https://dl.doubtnut.com/l/_k9JwyTrQBzCP
https://dl.doubtnut.com/l/_1UfkMppML1IC

Game Number of Students

Kabaddi | R R R R R R &
ot | $228
Badminton | R 2 & R &
ikt | R RR R R R

What is the game in which least number of students are interested?

° Watch Video Solution

20. In a class of 25, students play like various games. The details are
shown in the following pictograph. (No student plays more than one

game).


https://dl.doubtnut.com/l/_1UfkMppML1IC
https://dl.doubtnut.com/l/_6R6ROqcG7Rik

Giame Number of Students

kb | R R RRRR X
ket | RXAR
mdminon | £ £ R % £
ciret | RRRRR R

How many students do not play any game?

° Watch Video Solution

21. The following pictograph shows the number of tractors in five

different villages.


https://dl.doubtnut.com/l/_6R6ROqcG7Rik
https://dl.doubtnut.com/l/_VnNB5WuwCJGx
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Which village has the minimum number of tractors?

o Watch Video Solution

22. The following pictograph shows the number of tractors in five

different villages.
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Which village has the maximum number of tractors?

o Watch Video Solution



https://dl.doubtnut.com/l/_VnNB5WuwCJGx
https://dl.doubtnut.com/l/_Pvn7eFVnu5Oi

23. The following pictograph shows the number of tractors in five

different villages.
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How many more tractors does village C have as compared to village B.

o Watch Video Solution

24. The following pictograph shows the number of tractors in five

different villages.


https://dl.doubtnut.com/l/_Pvn7eFVnu5Oi
https://dl.doubtnut.com/l/_XJRWFQz9Ag04
https://dl.doubtnut.com/l/_cqYLg8zwEI9B
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What is the total number of tractors in all the five villages?

o Watch Video Solution

1. Give two examples of data in numerical figures.

o Watch Video Solution

2. Give two examples of data in words?

o Watch Video Solution



https://dl.doubtnut.com/l/_cqYLg8zwEI9B
https://dl.doubtnut.com/l/_AVvc9jCE93dy
https://dl.doubtnut.com/l/_GlIu9ZThjwyx

3. Give two examples of data in numerical figures.

o Watch Video Solution

4. Give two examples of data in words?

o Watch Video Solution

Think Discuss And Write

1. In what way is the bar graph better than the pictograph?

o Watch Video Solution

2.In what way is the bar graph better than the pictograph?

| o Wakl . \ntdaa AL .klamm


https://dl.doubtnut.com/l/_GlIu9ZThjwyx
https://dl.doubtnut.com/l/_lrsqxRvuDysW
https://dl.doubtnut.com/l/_tS0xlyC7Whug
https://dl.doubtnut.com/l/_0Y7wKhMTrfnI
https://dl.doubtnut.com/l/_eDxRLG1YzHEM
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1. A child's Kiddy bank is opened and the coins collected are in the

following denomination.

Tvpe of coin Number of coins

30 Piasa . . . . .

- BHDBBDS
— Q@
5 Rupees .

Represent the data in a frequency distribution table using tally marks.

° Watch Video Solution

2. The favourite colours of 25 students in a class are given below: Blue,
Red, Green, White, Blue, Green, White, Red, Orange, Green, Blue, White,

Blue, Orange, Blue, Blue, White, Red, White, White, Red, Green, Blue,


https://dl.doubtnut.com/l/_eDxRLG1YzHEM
https://dl.doubtnut.com/l/_sFSIKJzUEhuk
https://dl.doubtnut.com/l/_FCF7D9LLJN6c

Blue, White. Write a frequency distribution table using tally marks for

the data. Which is the least favourite colour for the students?

o Watch Video Solution

3. ATV channel invited a SMS poll on 'Ban of Liquor' giving options : A -
Complete ban B - Partial ban C - Continue sales They received the
following SMS, in the first hour

AABCABBCAA

AACCBAACBA

AAABBCCAAC

CBBBAAAAAC

Represent the data in a frequency distribution table using tally marks.

o Watch Video Solution

4. \ehicles that crossed a checkpost between 10AM to 11AM are as

follows:


https://dl.doubtnut.com/l/_FCF7D9LLJN6c
https://dl.doubtnut.com/l/_YIDE3BEeWhSR
https://dl.doubtnut.com/l/_jZ57yBy9P25o

Car,lorrybus,lorryauto,lorrylorrybus,auto,bike,bus,lorrylorryzeep,
lorry,bus,zeep,car,bike,bus,car,lorrybus,lorrybus.bike,car,zeep,bus,lorry,lorry,
bus,car,car,bike,auto. Represent the data in a frequency distribution

table using tally marks.

o Watch Video Solution

5. A child's Kiddy bank is opened and the coins collected are in the

following denomination.

Tvpe of coin Number of coins

30 Piasa . . . . .

- 900SDDS
— Q@
5Rupees .

Represent the data m a frequency distribution table using tally marks.

o Watch Video Solution



https://dl.doubtnut.com/l/_jZ57yBy9P25o
https://dl.doubtnut.com/l/_VnaDtmdOp0P2

6. The favourite colours of 25 students in a class are given below: Blue,
Red, Green, White, Blue, Green, White, Red, Orange, Green, Blue, White,
Blue, Orange, Blue, Blue, White, Red, White, White, Red, Green, Blue,
Blue, White. Write a frequency distribution table using tally marks for

the data. Which is the least favourite colour for the students?

° Watch Video Solution

7.A TV channel invited a SMS poll on 'Ban of Liquor' giving options : A -
Complete ban B - Partial ban C - Continue sales They received the
following SMS, in the first hour

AABCABBCAA

AACCBAACBA

AAABBCCAAC

CBBBAAAAAC

Represent the data in a frequency distribution table using tally marks.

° Watch Video Solution



https://dl.doubtnut.com/l/_GPkD3XL14MG1
https://dl.doubtnut.com/l/_AXQUYrKJswEH

8. Vehicles that crossed a checkpost between 10AM to 11AM are as
follows:

Car,lorrybus,lorryauto,lorrylorrybus,auto,bike,bus,lorrylorryzeep,
lorry,bus,zeep,car,bike,bus,car,lorrybus,lorrybus,bike,car,zeep,bus,lorry,lorry,
bus,car,car,bike,auto. Represent the data in a frequency distribution

table using tally marks.

o Watch Video Solution

1. The number of wrist watches manufactured by a factory in a week

are as follows. Represent the data using a pictograph. Choose a

e mey ma > AL O TRCTR L B s DI,

[Monday _ | Tucsday Wedu?ﬁ&w "Thursday | Friday smm-rm

) [E"‘ _.. ds0 | T 250 " 400, L300 . a5 J
suitable scale. s i+ ! ; :

° Watch Video Solution



https://dl.doubtnut.com/l/_AXQUYrKJswEH
https://dl.doubtnut.com/l/_uL85aIeoFDUW
https://dl.doubtnut.com/l/_H4vl5rTut0Lq

2. details of apples sold in a week by Ahmed, a fruit vendor are given
here under. Prepare a pictograph for the data: [Scale: Represent 5

fruits with a symbol] : How many symbols represent the fruit sold on

i Qnuda.g.,'_ Hundu;. _-'.['néaduy' Wednesday | Thursday | Friday | Samrdajr|
| 100 55 | %0 | 88 60 95 70, |
Tuesday? . rcamer :

o Watch Video Solution

3. details of apples sold in a week by Ahmed, a fruit vendor are given
here under. Prepare a pictograph for the data: [Scale: Represent 5

fruits with a symbol] : How many symbols represent the fruit sold on

[ Sunday | Monday | Tuésday | Wednesday | Thursday | Friday | Saturday |
100
Tuesday? .

B85 | .00 | . 80 60 95 0, |

o Watch Video Solution

4. Votes polled for various candidates in a sarpanch election are

shown below, against their symbols in the following table.


https://dl.doubtnut.com/l/_QmTTfozvwa1E
https://dl.doubtnut.com/l/_oZE5FP9bGCTP
https://dl.doubtnut.com/l/_xDMOSIEJoZFP

Symbeol Sun Poi Tree Watch
Number of votes 400 550 350 200

Represent the data using a pictograph. Choose a suitable scale.
Answer the following questions:

Which symbol got least votes?

o Watch Video Solution

5. Votes polled for various candidates in a sarpanch election are
shown below against their symbols in the following table. Represent

the data using a pictograph. Choose a suitable scale: Which symbol

candidate won in the election?
Symhbol ] sm, |, Pt Tree | Waich |
Number of votes- 400 850 | 350 200 | -"_

° Watch Video Solution

6. The following pictograph shows the number of students’ cycles, in

five classes of a school. Which class students have the maximum


https://dl.doubtnut.com/l/_xDMOSIEJoZFP
https://dl.doubtnut.com/l/_Eh6CxBzviaW6
https://dl.doubtnut.com/l/_5o9No9VRmrqx
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o Watch Video Solution

7.The following pictograph shows the number of student cycles, in five

classes of a school.

Class | Number of cycles

Vi M& 52 &8 &5 2

Vil 6 3 &5 &6 &8 &5 &5 &8 &b Sb
vill | 48 8 &b 48 48 Ja 48 d4 Je

X &5 &8 86 &5 &5 46 38 46 46 &6 45 45
X

Answer the following questions based on the pictograph given above-

Which class students have the minimum number of cycles?


https://dl.doubtnut.com/l/_5o9No9VRmrqx
https://dl.doubtnut.com/l/_7et5FC0ZQ6aE

o Watch Video Solution

8. The following pictograph shows the number of students’ cycles, in

five classes of a school. Which class students have 9 cycles?

| Class ) 2 Nllmbl‘.'l'nfqden

;%mﬁﬁﬁ ‘
W%%%%%%&%%%W
| G & & Fb &b b G Fb-

. 'ﬁﬁ&%%%%%%%%%
gm%%%%%%

o Watch Video Solution

9. The following pictograph shows the number of student cycles, in

five classes of a school.


https://dl.doubtnut.com/l/_7et5FC0ZQ6aE
https://dl.doubtnut.com/l/_c2s7OrA04b0S
https://dl.doubtnut.com/l/_OyCSGArJ4wiQ

Class | Number of cycles

Vi | B8 dt. dB dB 42

VI 5 o6 06 06 6B 0B 85 5B &6 &5

Vil 2 ij.'f. 5 o A8 o o ol

X db 38 48 48 &8 &6 &8 &6 &8 &b &6 &b
X d'a“ l_j.cf 5 o0 08 J2 8

Answer the following questions based on the pictograph given above-

What is the total number of cycles in all the five classes?

o Watch Video Solution

10. The sale of television sets of different companies on a day is shown

in the pictograph given below.

Scale : [[8) =5 televisions

Company Number of television sets

(- B -

Answer the following questions:

How many TVs of company A were sold?

o Watch Video Solution



https://dl.doubtnut.com/l/_OyCSGArJ4wiQ
https://dl.doubtnut.com/l/_WyPlHKDjQr54

11. The sale of television sets of different companies on a day is shown

in the pictograph given below.

Scale : () = 5 televisions

Company Number of television sets
A 2 0 80 8 B
B =2 B
C e 80 0 8 0 0 8 8
D ™
: -]

Answer the following questions:

Which company's TVs are people more crazy about?

° Watch Video Solution

12. The sale of television sets of different companies on a day is shown

in the pictograph given below.


https://dl.doubtnut.com/l/_WyPlHKDjQr54
https://dl.doubtnut.com/l/_EivMd1KSYS8A
https://dl.doubtnut.com/l/_xfxLt4NAvIwk

Scale : ) =5 televisions

Company Number of television sets
e 5000
B - I -]
c - B - B - B - B - B - B - B
D ™
r | - - -

Answer the following questions:

Which company sold 15 TV sets?

o Watch Video Solution

13. The sale of television sets of different companies on a day is shown

in the pictograph given below.

Scale : () = 5 televisions

Company Number of television sets
A (- I - B - B - B -
B - -
C (- - B - B - B - BN - B - BN -
D [ ]
E - I - I -

Answer the following questions:

Which company had the least sale?

| o Watch Video Solution


https://dl.doubtnut.com/l/_xfxLt4NAvIwk
https://dl.doubtnut.com/l/_mHXAM6P1MCyd

14. Monthly salaries of 5 workers are shown in the pictograph given

below: Who earns more salary?
Worker ‘ ; ~ Salary | L .
- | Ramesh | 7 A mmmmmm

*

Venlat mmmmmm ,

o Watch Video Solution

15. Monthly salaries of 5 workers are shown in the pictograph given

below: Who earns more salary?
Worker ‘ i _%-91"?: o

- | Rames | mmmmmmmm
Venkat gmmmmmm -

o Watch Video Solution



https://dl.doubtnut.com/l/_mHXAM6P1MCyd
https://dl.doubtnut.com/l/_uhgh17wCnU02
https://dl.doubtnut.com/l/_Bt6pxCOlAyEa

16. Monthly salaries of 5 workers are shown in the pictograph given

below: Who earns more
Worker | sy

- | Ramest mmmmmmmm
Venkiat mmmmmm - _
Sachln | mmmmmmm:ﬂm‘

salary?

o Watch Video Solution

17. Monthly salaries of 5 workers are shown in the pictograph given

below: Who earns more
Worker _ _Balmy r— :

- | Ramesn | mmmmmmmm
Venkiat mmmmmm -
Sachln | mmmmmmm:ﬂm‘

salary?

o Watch Video Solution



https://dl.doubtnut.com/l/_Bt6pxCOlAyEa
https://dl.doubtnut.com/l/_vSnPx4dx9HKO
https://dl.doubtnut.com/l/_CUEZIrMoAuAl

18. The number of wrist watches manufactured by a factory in a week

are as follows. Represent the data using a pictograph. Choose a

y B— - s g lrulﬂnm_ﬂ_l:l:ﬂl.“_l_ll.l“_
[ Monday . Tuesday Wedq?duy " Thursday Friday Saturday |

. 00 | 350 | : 250 " 400. .300°. | 275 ’

suitable scale. L:__—— 1 —d '

o Watch Video Solution

19. details of apples sold in a week by Ahmed, a fruit vendor are given
here under. Prepare a pictograph for the data: [Scale: Represent 5

fruits with a symbol] : How many symbols represent the fruit sold on

[ Sunday | Monday | Tuésday | Wednesday | Thursday | Friday | Saturday |
| 100 e 80 60 25 70, |

BF §
Tuesday? . — ===

o Watch Video Solution

20. details of apples sold in a week by Ahmed, a fruit vendor are given

here under. Prepare a pictograph for the data: [Scale: Represent 5


https://dl.doubtnut.com/l/_CUEZIrMoAuAl
https://dl.doubtnut.com/l/_jLLsMOkpSbYV
https://dl.doubtnut.com/l/_xxLcaubrQCaq
https://dl.doubtnut.com/l/_pbQZ1V3PgM5c

fruits with a symbol] : How many symbols represent the fruit sold on

[ Sanday | Monday | Tuésday | Wednesday | Thursday | Friday | Saturday |
100
Tuesday? .

4

85 %0 | . 80 60 95 70, |

o Watch Video Solution

21. Votes polled for various candidates in a sarpanch election are

shown below, against their symbols in the following table.

Symbaol Sun Pol Tree Watch
Number of votes 400 550 350 200

Represent the data using a pictograph. Choose a suitable scale.
Answer the following questions:

Which symbol got least votes?

° Watch Video Solution

22. Votes polled for various candidates in a sarpanch election are
shown below against their symbols in the following table. Represent

the data using a pictograph. Choose a suitable scale: Which symbol


https://dl.doubtnut.com/l/_pbQZ1V3PgM5c
https://dl.doubtnut.com/l/_A686MilhdxKd
https://dl.doubtnut.com/l/_1LaTjlWI7hMA

candidate won in the election?
Symbol Sun_ 1{ Pat Tree | Watch | ’
Numberofvotes-| -+ 400 | 0 | 30 | 20 | *

o Watch Video Solution

23. The following pictograph shows the number of student cycles, in

five classes of a school.

Class | Number of cycles

VI | 48 d8 8 &8 G

VI | @ &8 6 86 58 &8 I8 86 S8 4B

VI | &% &% &6 &6 &6 &6 JB &6 Ib

X | g8 d8 06 36 06 &6 &6 38 3B ¢B 36 3B
X 66 46 &% &6 ¢ 36 &5

Answer the following questions based on the pictograph given above-

Which class students have the maximum number of cycles?

o Watch Video Solution



https://dl.doubtnut.com/l/_1LaTjlWI7hMA
https://dl.doubtnut.com/l/_o0UlBoBYCeIT

24.The following pictograph shows the number of student cycles, in

five classes of a school.

Class | Number of cyeles

Vi 7 5 A AT
VI T T A A e A5 &S K8 RS

VIl | 48 &F

Answer the following questions based on the pictograph given above-

Which class students have the minimum number of cycles?

o Watch Video Solution

25. The following pictograph shows the number of students’ cycles, in

five classes of a school. Which class students have 9 cycles?


https://dl.doubtnut.com/l/_jO0eK494GRms
https://dl.doubtnut.com/l/_07tAfVFhyxSi

" %%%%%

" _ﬁ%%%@%%ﬁ%%%‘
m |G F &b & &b &b Fo &b &b |
- 'ﬂﬁﬁﬁ%%@b%%ﬁ@;a;_
'gﬁﬁﬁﬁmﬁ%

° Watch Video Solution

26. The following pictograph shows the number of student cycles, in

five classes of a school.

Number of cycles

% % 8§ 5|8

4o 48 38 &8 §B

&% 48 &6 &6 &8 &5 &8 4B 35 4B

86 . &8 &6 &6 &6 S8 6 I

08 38 &6 06 I8 &6 &6 36 3B I8 36 dB
06 36 0B &6 db b 3G

Answer the following questions based on the pictograph given above-

What is the total number of cycles in all the five classes?

| OIA

—r_L vt l_ _ e~_01_.0°_ _


https://dl.doubtnut.com/l/_07tAfVFhyxSi
https://dl.doubtnut.com/l/_I40RpjLzqwJh

L T Vvvallll viucCo o0VIuLivI )

27.The sale of television sets of different companies on a day is shown

in the pictograph given below.

Scale : u = & televisions

Company Number of television sets

m g 0 W »
000D

Answer the following questions:

How many TVs of company A were sold?

o Watch Video Solution

28.The sale of television sets of different companies on a day is shown

in the pictograph given below.


https://dl.doubtnut.com/l/_I40RpjLzqwJh
https://dl.doubtnut.com/l/_IGIQdkwNzW2C
https://dl.doubtnut.com/l/_t61MldHRz1b4

Scale :g =% televizions

Company Number of television sets
A 2 o000
B = =
c 2o 0000068
D [
E 2B =2 O

Answer the following questions:

Which company's TVs are people more crazy about?

° Watch Video Solution

29. The sale of television sets of different companies on a day is shown

in the pictograph given below.

Scale : g = £ televisions

Company | Number of television sets
A -2 Qs Qs R S
B = =
c a2 0000000 8
D =
E =B B o5

Answer the following questions:

Which company sold 15 TV sets?

.


https://dl.doubtnut.com/l/_t61MldHRz1b4
https://dl.doubtnut.com/l/_NF7S9ug9U70F

| ¥ Vvatch viaeo soiution

30. The sale of television sets of different companies on a day is shown

in the pictograph given below.

Scale : g‘ = £ televisions

Company | Number of television sets
A 2 0 60 60 6
B 2 =B
c
D
E = =D 0

Answer the following questions:

Which company had the least sale?

o Watch Video Solution

31. Monthly salaries of 5 workers are shown in the pictograph given

below:

What is the scale

used

in

the

pictograph?


https://dl.doubtnut.com/l/_NF7S9ug9U70F
https://dl.doubtnut.com/l/_xW2NpxTqmtjn
https://dl.doubtnut.com/l/_OthdyneN9Xp1

Worker ’ " Salary | - =

Sechln | T T8 SR P 7 7 il 9 5 |

o Watch Video Solution

32. Monthly salaries of 5 workers are shown in the pictograph given

below:

Scale : “E@ = 1000 rupees

Worker Salary

Ramesh | Tl CFll OFll CFll CFll CH@ TRl 9l

Vilas CRECFECSETTECSECTACSE

Venkat CRECSATSATSaCSaCSa

Dinesh CRlSATSA S SACSaCSaCRaCSu N
Sachin CRl SATSA SACSACSaCSaCRaCSECEn

Answer the following questions:

How much is Sachin's salary?

o Watch Video Solution



https://dl.doubtnut.com/l/_OthdyneN9Xp1
https://dl.doubtnut.com/l/_njJFnQSQSPbh

33. Monthly salaries of 5 workers are shown in the pictograph given

below: Who earns more salary?

Ramesh | mmmmmmmw :
Venkat mmmmmﬁm -
Sachin | mmmmmmmmm

o Watch Video Solution

34. Monthly salaries of 5 workers are shown in the pictograph given

below:

Scale : “mm = 1000 rupess

Worker Salary

Ramesh | CEMCSETSHF@_SASACSASE

Vilas CRECFECFECFACSECTECER

Venkat CRECSE_SACFACSACTa

Dmesh CEHLFECFlCFECFECSE S CFECSECEE

Answer the following questions:

How much is Ramesh's salary more than Vilas's?



https://dl.doubtnut.com/l/_LRMcK91yrrQT
https://dl.doubtnut.com/l/_vrZYUP93X5nI

I & Watch Video Solution I

1. The life span of animals is given as follows: bear-40 years, Bull-28

years, camel-50 years ,dog-22 years, donkey- 45 years, goat- 15 years,
horse-10 years, cow-22 years, elephant-70 years. Draw a horizontal bar

graph to represent the data.

o Watch Video Solution

2. the following table shows the monthly expenditure of Imran’s family

on various items. Construct a vertical bar diagram to represent the

¢

Newm  |Houserent | Food | Fducation [Eiecicity | Tramaport | Mise

Expenditure.| 3000 B400. B 400 600 1200

i e L ; .
abovedata. '=— e : " ]

o Watch Video Solution



https://dl.doubtnut.com/l/_vrZYUP93X5nI
https://dl.doubtnut.com/l/_c9LQdgrtkgn8
https://dl.doubtnut.com/l/_gRSW1rpYEINv
https://dl.doubtnut.com/l/_4K9GZ3OnidMv

3. Travelling time from Hyderabad to Tirupathi by different means of
transport are: Car- 8 hours, Bus- 15 years, Train- 12 years, Aeroplane - 1

hour, Represent the information using a bar diagram.

o Watch Video Solution

4. A survey of 120 school students was conducted to find which activity

they prefer to do in their free time.

Preferred activity Pliying | Reading story | Waiching | Listcning | Painting
books v o music

MNumber of students 25 10 40 10 15

Draw a bar graph to illustrate the above data.

° Watch Video Solution

5. The life span of animals is given as follows: bear-40 years, Bull-28
years, camel-50 years ,dog-22 years, donkey- 45 years, goat- 15 years,
horse-10 years, cow-22 years, elephant-70 years. Draw a horizontal bar

graph to represent the data.


https://dl.doubtnut.com/l/_4K9GZ3OnidMv
https://dl.doubtnut.com/l/_3LTE0gqFvkIV
https://dl.doubtnut.com/l/_6juTn0QRccJD

o Watch Video Solution

6. the following table shows the monthly expenditure of Imran’s family

on various items. Construct a vertical bar diagram to represent the

!

Mem  |Houserent | Fonq | Education [ Electricity Transport | Mike
Expenditure.| 3000 | 3400. | 800 | 400 600 1200
above data. e . J

o Watch Video Solution

7. Travelling time from Hyderabad to Tirupathi by different means of
transport are: Car- 8 hours, Bus- 15 years, Train- 12 years, Aeroplane - 1

hour, Represent the information using a bar diagram.

o Watch Video Solution

8. A survey of 120 school students was conducted to find which activity

they prefer to do in their free time.


https://dl.doubtnut.com/l/_6juTn0QRccJD
https://dl.doubtnut.com/l/_BhAprgocZJGi
https://dl.doubtnut.com/l/_WGCrHCuHkCTG
https://dl.doubtnut.com/l/_jRl0h6EZS0pE

Preferred activity Phiying | Readingstory | Watching | Listening | Painting
books ™ o music
MNumber of students 25 10 40 10 15

Draw a bar graph to illustrate the above data.

o Watch Video Solution



https://dl.doubtnut.com/l/_jRl0h6EZS0pE

